## 1. STRMIX SOFTWARE -- REGIONAL FORENSIC SCIENCE CENTER FUNDING -- FY 2016 DNA CAPACITY ENHANCEMENT

(Single Source)

#17-2041 S/C #8000114093

|   | NicheVision<br>Forensics, LLC   |
|---|---------------------------------|
| 5 each, user licenses STRmix fully continuous DNA profile interpretation                                  | \$16,000.00 each<br>\$80,000.00 |
| 5 each, STRmix annual upgrade, includes all version updates for 24 months                                 | \$5,627.00 each<br>\$28,120.00  |
| 1 each, STRmix support, includes technical and scientific support for a maximum of 100 hours for one year | \$17,480.00                     |
| Grand Total   | \$125,600.00                    |
| Hour, extended support (sold in 25 hour blocks)   | \$200/hour<br>\$5,000.00/block  |

On the recommendation of Kimberly Bush, on behalf of the Regional Forensic Science Center, Jennifer Dombaugh moved to accept the quote from NicheVision Forensics, LLC in the amount of \$125,600.00 and establish contract pricing for extended support blocks at \$5,000.00 per block as needed. Richard Powell seconded the motion. The motion passed unanimously.

This purchase includes software licensing, annual upgrades for 24 months and one year of technical and scientific support.

Sedgwick County's forensic DNA laboratory continues to experience an increase in demand for "touch" DNA analysis of items where a limited amount of DNA is present and where the detection of multiple contributors is expected. Over the last 5 years, the FBI's DNA Advisory Board, the European Network of Forensic Science Institutes, the Scientific Working Group for DNA Analysis Methods, and the United States Department of Justice have all recommended the use of probabilistic genotyping methods for the interpretation of mixture profiles. Binary approaches to DNA interpretation are no longer endorsed by national or global quality standards. In order to stay abreast with the technical advances in forensic DNA analysis, the forensic DNA laboratory will require sophisticated probabilistic genotyping software.

There are two major categories of probabilistic software; semi-continuous and fully-continuous. Due to the limitations of semi-continuous models and the extensive expense and timeline for validating any probabilistic methods, the laboratory recognizes that a fully-continuous model is required to maintain the quality standards expected within the field of forensic genetics and the 18<sup>th</sup> Judicial District of Kansas.

There are two systems available for fully-continuous probabilistic genotyping, STRmix and TrueAllele. NicheVision Forensics, LLC is the exclusive US distributor for the STRmix probabilistic genotyping system. Cybergenetics is the exclusive US distributor for the TrueAllele probabilistic genotyping system.

The decision to move forward with STRmix as a fully-continuous solution for the Regional Forensic Science Center is fully outlined in the attached document. Based on the information provided by the department and research completed by the Purchasing Department, it has been approved to move forward with a purchase and agreement with NicheVision Forensics, LLC as a single source.

#### **Questions and Answers**

Tom Stolz: Thank you. Board, any questions?

Richard Powell: As previously mentioned, just this morning, received a lot of the supporting documentation. I actually had the opportunity to read through this in detail and some of it quite honestly flew right past me. The basic pretense of the recommended vendor on this makes sense to me from the standpoint of a meeting we had a couple weeks ago where I spoke of continuity and consistency between equipment and other stakeholders we have to deal with within our organization, the Sheriff's Office. This is another one of those same situations where

DI. Koning and his start at the Forensics Center have a great necessity to have continuity and consistency in their testing methodology and also the equipment and protocols they use for testing. I would personally support the recommendation as presented because of those factors.

Tom Stolz: Any other questions? Joe, from a purchasing perspective, Dr. Rohrig had 2 options from 2 companies. Did it go through a competitive process or is this the only viable option or is it superior?

Joe Thomas: Being a Single Source, there was more than one option but this one was the superior of the two. Sole Source means there is only one solution. Single Source, you have options, but there are overriding reasons for picking one over the other.

Tom Stolz: That's within the Charter?

Joe Thomas: Yes, sir.

Tom Stolz: Does this replace something or is this in addition to? In laymen's terms, can you tell us what this is going to do as far as analysis?

Shelly Steadman: Sure. About ten years ago, the forensic community realized there are differences in how DNA profiles are interpreted. The data is the same but one lab may say this is a rare inclusion and another may not. At that point, they started to find ways to resolve those differences. What this does is it replaces the statistical methods we are currently using, which will give us the ability to express a likelihood ratio consistently across the nation of how likely is it someone is there or someone is not there. That said the thing that our lab analyst spend a lot of time doing is when we have a mixture profile of multiple people, we try to use the data to determine a major contributor, a minor contributor and that's very important because when we can figure out what those profiles are we can put them into CODIS (Combined DNA Index System). CODIS is a powerful tool that we use to identify suspects or generate investigative leads. It searches against convicted offenders and other people in the database. This software will do that mathematically for us so we are hoping the time we spend interpreting DNA profiles and reviewing cases will be expedited greatly.

Tom Stolz: Thanks Shelly. It gets read into record and the Commission can read that. Any other questions.

Talaya Schwartz: I just have a quick question. It would require additional training budget. Do we have any idea how much that additional training would cost for that product?

Shelly Steadman: I don't have that information but I do know the comparable training that was provided by STRmix is \$3,000 per person and that is without any travel. I have six trained analysts so you'd be looking in the neighborhood of \$20,000 to \$30,000. Part of the reason why we feel that TrueAllele would be a poor choice for Sedgwick County is as an example, the New York State Police were never able to fully train their individuals. Part of the reason for the proprietary aspect of the TrueAllele, as a company that developed that is they're counting on the fact that you are going to need them to come and testify in your court system, so there's additional cost if you need a software developer to come to the 18th Judicial District to explain the mathematics behind their product. On the flipside STRmix is interested in training the analyst to provide that testimony locally.

# 2. VARIOUS FURNITURE FOR LAW ENFORCEMENT TRAINING CENTER -- FACILITIES PROJECT SERVICES FUNDING -- LETC CIP

(Request sent to 81 vendors)

RFB #17-0084 S/C #8000115197

| KI B #11 | 7-0084 S/C #800011519        | ,   |          | Color Art Integrated<br>Interiors dba Scott Rice<br>Office Works |               | Staples Contract and<br>Commercial, Inc., dba<br>Staples Business Advantage |               |            |               | Furniture by William Webb |               |
|----------|------------------------------|---|----------|--|---------------|---|---------------|------------|---------------|---------------------------|---------------|
| Item#    | Manufacturer Part<br>Number  | Description   | Quantity | Unit Cost  | Extended Cost | Unit Cost   | Extended Cost | Unit Cost  | Extended Cost | Unit Cost                 | Extended Cost |
| 1.       | SitOnIt 5642                 | SitOnIt Focus Side Chair  | 85       | \$172.36   | \$14,650.60   | \$162.82  | \$13,669.70   | \$153.00*  | \$13,005.00   | \$197.00                  | \$16,745.00   |
| 2.       | SitOnIt 1011 FT1             | SitOnIt Lumin Four Leg  | 100      | \$121.61   | \$12,161.00   | \$110.00  | \$11,000.00   | \$94.40*   | \$9,440.00    | \$135.00                  | \$13,500.00   |
| 3.       | SitOnIt Torsa 6023           | SitOnIt Torsa (Fog Striped)   | 10       | \$355.51   | \$3,555.10    | \$341.42  | \$3,414.20    | \$322.12*  | \$3,221.20    | \$460.00                  | \$4,600.00    |
| 4.       | SitOnIt Torsa 6023           | SitOnIt Torsa (Onyx<br>Striped)                                     | 24       | \$355.51   | \$8,532.24    | \$341.42  | \$8,194.08    | \$322.12*  | \$7,730.88    | \$460.00                  | \$11,040.00   |
| 5.       | CLARUS                       | 4'x8' Colors By Clarus Float<br>Glassboard                          | 8        | \$2,111.75   | \$16,894.00   | No Bid  |               | \$1,629.88 | \$13,039.04   | \$2,288.00                | \$18,304.00   |
| 6.       | CLARUS                       | BOX TRAY (Magnetic)   | 6        | \$43.47  | \$260.82      | No Bid  |               | \$46.65    | \$279.90      | \$93.50                   | \$748.00      |
| 7.       | Peter Pepper                 | PETER PEPPER 72w X 72h<br>X 18D GLIDING DOOR<br>GLASS CASE; NATURAL | 1        | \$5,899.00   | \$5,899.00    | No Bid  |               | \$6,627.14 | \$6,627.14    | \$6,911.50                | \$6,911.50    |
| 8.       | Peter Pepper                 | PETER PEPPER 72w X 48h<br>X 18D GLIDING DOOR<br>GLASS CASE; NATURAL | 1        | \$4,766.50   | \$4,766.50    | No Bid  |               | \$4,405.86 | \$4,405.86    | \$5,705.80                | \$5,705.80    |
| 9.       |                              | LINEAR LIGHTING LOW<br>VOLTAGE HALOGEN<br>FOR 72W CASE              | 1        | \$876.71   | \$876.71      | No Bid  |               | \$1,182.86 | \$1,182.86    | \$1,057.00                | \$1,057.00    |
| 10.      |                              | 4"H PLINTH FOR<br>LIGHTING  | 1        | \$103.00   | \$103.00      | No Bid  |               | \$138.57   | \$138.57      | \$124.00                  | \$124.00      |
| 11.      | National Office<br>Furniture | RENO,24DX24W,END<br>TABLE,SQUARE,<br>LAMINATE                       | 1        | No Bid   |               | \$485.76  | \$485.76      | \$301.19*  | \$301.19      | \$552.00                  | \$552.00      |
| 12.      | National Office<br>Furniture | SWIFT,ONE SEAT<br>LOUNGE  | 1        | No Bid   |               | \$965.80  | \$965.80      | \$727.61*  | \$727.61      | \$1,097.50                | \$1,097.50    |
| 13.      | National Office<br>Furniture | FRINGE,BENCH, TWO<br>SEAT   | 2        | No Bid   |               | \$765.60  | \$1,531.20    | \$614.96*  | \$1,229.92    | \$870.00                  | \$1,740.00    |
| 14.      | National Office<br>Furniture | FOOTINGS,40WX28H,X<br>BASE,STATIC                                   | 22       | No Bid   |               | \$306.68  | \$6,746.96    | \$285.05   | \$6,271.10    | \$348.50                  | \$7,667.00    |
| 15.      | National Office<br>Furniture | FOOTINGS,48DIA,<br>ROUND TOP,HPL                                    | 22       | No Bid   |               | \$399.08  | \$8,779.76    | \$370.95   | \$8,160.90    | \$453.50                  | \$9,977.00    |

|     |                              |  |        | _      |            |            |            |            |            | _          |
|-----|------------------------------|--|--------|--------|------------|------------|------------|------------|------------|------------|
| 16. | Herman Miller                | +Connect Single Circuit<br>Electrical By-Pass Jumper,<br>12"   | 1      | No Bid | No Bid     |            | \$39.32    | \$39.32    | \$38.04    | \$38.04    |
| 17. | Herman Miller                | +Connect Single Circuit<br>Electrical Power Entry, 10'<br>cord | 1      | No Bid | No Bid     |            | \$200.49   | \$200.49   | \$193.95   | \$193.95   |
| 18. | Herman Miller                | +Connect S740 Single<br>Circuit Power Unit, 2<br>simplex       | 2      | No Bid | No Bid     |            | \$209.14   | \$418.28   | \$202.31   | \$404.62   |
| 19. | National Office<br>Furniture | FOOTINGS,28DX100WX2<br>8H,Y BASE KIT<br>PLATINUM METALLIC      | 1      | No Bid | \$362.56   | \$362.56   | \$378.95   | \$378.95   | \$412.00   | \$412.00   |
| 20. | National Office<br>Furniture | FOOTINGS,48DX120W,B<br>OAT TOP,HPL SOFTENED<br>PVC,SABLE       | 1      | No Bid | \$868.95   | \$868.95   | \$888.16   | \$888.16   | \$772.50   | \$912.50   |
| 21. | National Office<br>Furniture | ACQUAINT,BARIATRIC,S<br>LAT BACK,ARMS                          | 2      | No Bid | \$744.04   | \$1,488.08 | \$1,077.45 | \$2,154.90 | \$845.50   | \$1,691.00 |
| 22. | National Office<br>Furniture | ACQUAINT,GUEST,HALF<br>UPH                                     | 3      | No Bid | \$447.04   | \$1,341.12 | \$484.70   | \$1,454.10 | \$508.00   | \$1,524.00 |
| 23. | INSPIRE-M                    | ARCHITEX,  | 6 yds  | No Bid | \$72.76    | \$436.56   | \$81.33    | \$487.98   | \$61.87    | \$371.22   |
| 24. | National Office<br>Furniture | ACQUAINT,GUEST,<br>FULLY UPH                                   | 6      | No Bid | \$462.44   | \$2,774.64 | \$344.34   | \$2,066.04 | \$525.50   | \$3,153.00 |
| 25. | INSPIRE-M                    | ARCHITEX   | 24 yds | No Bid | \$72.76    | \$1,746.24 | \$81.33    | \$1,951.92 | \$61.87    | \$1,484.88 |
| 26. | National Office<br>Furniture | SWIFT,ONE SEAT<br>LOUNGE                                       | 3      | No Bid | \$1,023.44 | \$3,070.32 | \$639.41   | \$1,918.23 | \$1,163.00 | \$3,489.00 |
| 27. | 9141977                      | MOMENTUM TEXTILES  | 24 yds | No Bid | \$94.94    | \$2,278.56 | \$105.33   | \$2,527.92 | \$80.13    | \$2,035.16 |
| 28. | National Office<br>Furniture | RENO,24DX24W,END<br>TABLE,SQUARE,<br>LAMINATE                  | 4      | No Bid | \$485.76   | \$1,943.04 | \$703.43   | \$2,813.72 | \$552.00   | \$2,208.00 |
| 29. | National Office<br>Furniture | CONFERENCE,32WX28H,<br>FOUR STAR                               | 1      | No Bid | \$229.24   | \$229.24   | \$254.77   | \$254.77   | \$260.50   | \$260.50   |
| 30. | National Office<br>Furniture | WAVEWORKS,42DIA,SU<br>RFACE,ROUND,HPL<br>SOFTENED PVC,SABLE    | 1      | No Bid | \$165.44   | \$165.44   | \$183.78   | \$183.78   | \$248.00   | \$248.00   |
| 31. | National Office<br>Furniture | CONFERENCE,32WX28H,<br>FOUR STAR                               | 1      | No Bid | \$229.24   | \$229.24   | \$254.77   | \$254.77   | \$260.50   | \$260.50   |
| 32. | National Office<br>Furniture | WAVEWORKS,42DIA,<br>SURFACE,ROUND,HPL                          | 1      | No Bid | \$165.44   | \$165.44   | \$183.78   | \$183.78   | \$248.00   | \$248.00   |

| 33. | National Office<br>Furniture | FOOTINGS,40WX28H,X<br>BASE,STATIC                                     | 3      | No Bid | \$306.68   | \$920.04   | \$290.14   | \$870.42   | \$348.50   | \$1,045.50 |
|-----|------------------------------|---|--------|--------|------------|------------|------------|------------|------------|------------|
| 34. | National Office Furniture    | FOOTINGS,48DIA,<br>ROUND TOP,HPL                                      | 3      | No Bid | \$399.08   | \$1,197.24 | \$377.57   | \$1,132.71 | \$344.50   | \$1,033.50 |
| 35. | Herman Miller                | +Connect Single Circuit Electrical Power Entry, 6' cord               | 2      | No Bid | No Bid     |            | \$84.32    | \$168.64   | \$185.17   | \$370.34   |
| 36. | Herman Miller                | +Connect Ganging Bracket<br>Kit                                       | 14     | No Bid | No Bid     |            | \$20.28    | \$567.84   | \$31.35    | \$438.90   |
| 37. | National Office<br>Furniture | BASE<br>SUPPORT,21WX28H,T-<br>LEG BASE,STATIC,<br>PLATINUM,PKG        | 10     | No Bid | \$310.20   | \$3,102.00 | \$145.15   | \$1,451.50 | \$352.50   | \$3,525.00 |
| 38. | Herman Miller                | +Connect S740 Single<br>Circuit Power Unit, 2<br>Simplex Rcpt, 1 Data | 10     | No Bid | No Bid     |            | \$170.95   | \$1,709.50 | \$247.46   | \$2,474.60 |
| 39. | Herman Miller                | +Connect Single Circuit<br>Electrical By-Pass Jumper,<br>12" long     | 4      | No Bid | No Bid     |            | \$36.86    | \$147.44   | \$38.04    | \$152.16   |
| 40. | National Office<br>Furniture | ACCESSORIES,48WX12H,<br>MODESTY PANEL,RESIN                           | 10     | No Bid | \$205.92   | \$2,059.20 | \$129.47   | \$1,294.70 | \$234.00   | \$2,340.00 |
| 41. | National Office<br>Furniture | WAVEWORKS,30DX30W,<br>SURFACE,QUARTER<br>ROUND,HPL                    | 4      | No Bid | \$170.72   | \$682.88   | \$159.66   | \$638.64   | \$194.00   | \$776.00   |
| 42. | National Office<br>Furniture | WAVEWORKS,30DX60W,<br>SURFACE,<br>RECTANGULAR<br>DESK,HPL             | 10     | No Bid | \$178.20   | \$1,782.00 | \$322.31   | \$3,223.10 | \$262.50   | \$2,625.00 |
| 43. | National Office<br>Furniture | FRINGE,CLUB<br>CHAIR,ARMS,STATIC                                      | 2      | No Bid | \$934.12   | \$1,868.24 | \$346.28   | \$692.56   | \$1,061.00 | \$2,123.00 |
| 44. | 6416-13                      | CARNEGIE FABRICS  | 16 yds | No Bid | \$100.00   | \$1,600.00 | \$113.33   | \$1,813.28 | \$86.22    | \$1,429.50 |
| 45. | National Office<br>Furniture | RENO,24DX24W,END<br>TABLE,SQUARE,<br>LAMINATE                         | 3      | No Bid | \$485.76   | \$1,457.28 | \$703.43   | \$2,110.29 | \$1,061.50 | \$3,184.50 |
| 46. | National Office<br>Furniture | FRINGE,HIGH BACK,TWO SEAT,ARMLESS, CONTRASTING                        | 4      | No Bid | \$1,581.36 | \$6,325.44 | \$1,594.44 | \$6,377.76 | \$1,797.00 | \$7,188.00 |
| 47. | 9141988                      | MOMENTUM TEXTILES   | 20 yds | No Bid | \$92.94    | \$1,858.80 | \$105.33   | \$2,106.60 | \$80.13    | \$1,639.08 |

|       |                              |   |          | Encompas               | Corporation   |           | Business<br>nent, Inc. | Office Plus of Kansas dba<br>Daniksco Business<br>Solutions, LLC |               |  |
|-------|------------------------------|---|----------|------------------------|---------------|-----------|------------------------|--|---------------|--|
| Item# | Manufacturer Part<br>Number  | Description   | Quantity | Unit Cost              | Extended Cost | Unit Cost | Extended Cost          | Unit Cost  | Extended Cost |  |
| 1.    | SitOnIt 5642                 | SitOnIt Focus Side Chair  | 85       | \$171.35*              | \$14,564.75   | No Bid    |                        | No Bid   |               |  |
| 2.    | SitOnIt 1011 FT1             | SitOnIt Lumin Four Leg  | 100      | \$125.00*              | \$12,500.00   | \$104.50* | \$10,450.00            | \$102.25*  | \$10,225.00   |  |
| 3.    | SitOnIt Torsa 6023           | SitOnIt Torsa (Fog Striped)   | 10       | \$377.60*              | \$3,776.00    | \$291.00* | \$2,910.00             | \$250.72*  | \$2,507.20    |  |
| 4.    | SitOnIt Torsa 6023           | SitOnIt Torsa (Onyx<br>Striped)                                     | 24       | \$377.60*              | \$9,062.40    | 40 No Bid |                        | No Bid   |               |  |
| 5.    | CLARUS                       | 4'x8' Colors By Clarus Float<br>Glassboard                          | 8        |                        |               | No Bid    |                        | No Bid   |               |  |
| 6.    | CLARUS                       | BOX TRAY (Magnetic)   | 6        | \$60.30                | \$361.80      | No Bid    |                        | No Bid   |               |  |
| 7.    | Peter Pepper                 | PETER PEPPER 72w X 72h<br>X 18D GLIDING DOOR<br>GLASS CASE; NATURAL | 1        | \$6,532.52             | \$6,532.52    | No Bid    |                        | No Bid   |               |  |
| 8.    | Peter Pepper                 | PETER PEPPER 72w X 48h<br>X 18D GLIDING DOOR<br>GLASS CASE; NATURAL | 1        | \$5,269.43             | \$5,269.43    | No Bid    |                        | No Bid   |               |  |
| 9.    |                              | LINEAR LIGHTING LOW<br>VOLTAGE HALOGEN<br>FOR 72W CASE              | 1        | \$887.40               | \$887.40      | No Bid    |                        | No Bid   |               |  |
| 10.   |                              | 4"H PLINTH FOR<br>LIGHTING  | 1        | \$887.40               | \$887.40      | No Bid    |                        | No Bid   |               |  |
| 11.   | National Office<br>Furniture | RENO,24DX24W,END<br>TABLE,SQUARE,<br>LAMINATE                       | 1        | \$722.07*              | \$722.07      | \$293.01* | \$293.01               | \$274.44*  | \$274.44      |  |
| 12.   | National Office<br>Furniture | SWIFT,ONE SEAT<br>LOUNGE  | 1        | \$796.63*              | \$796.63      | \$496.16* | \$496.16               | \$485.48*  | \$485.48      |  |
| 13.   | National Office<br>Furniture | FRINGE,BENCH, TWO<br>SEAT   | 2        | \$756.58*              | \$1,513.16    | \$545.07* | \$1,090.14             | \$1146.02*   | \$2,292.04    |  |
| 14.   | National Office<br>Furniture | FOOTINGS,40WX28H,X<br>BASE,STATIC                                   | 22       | \$388.68*              | \$8,550.96    | \$180.57* | \$3,972.54             | \$185.69*  | \$4,085.18    |  |
| 15.   | National Office<br>Furniture | FOOTINGS,48DIA,<br>ROUND TOP,HPL                                    | 22       | Included*              |               | \$175.14* | \$3,853.08             | \$196.73   | \$4,328.06    |  |
| 16.   | Herman Miller                | +Connect Single Circuit Electrical By-Pass Jumper, 12"              | 1        | Included<br>w/item 20* |               | No Bid    |                        | No Bid   |               |  |

| 17. | Herman Miller                | +Connect Single Circuit<br>Electrical Power Entry, 10'<br>cord | 1      | Included w/item 20*    |            | No Bid    |          | No Bid    |            |
|-----|------------------------------|--|--------|------------------------|------------|-----------|----------|-----------|------------|
| 18. | Herman Miller                | +Connect S740 Single<br>Circuit Power Unit, 2<br>simplex       | 2      | Included<br>w/item 20* |            | No Bid    |          | No Bid    |            |
| 19. | National Office<br>Furniture | FOOTINGS,28DX100WX2<br>8H,Y BASE KIT<br>PLATINUM METALLIC      | 1      | Included w/item 20*    |            | \$343.59* | \$343.59 | \$336.20* | \$336.20   |
| 20. | National Office<br>Furniture | FOOTINGS,48DX120W,B<br>OAT TOP,HPL SOFTENED<br>PVC,SABLE       | 1      | \$2,090.05*            | \$2,090.05 | \$402.53* | \$402.53 | \$408.18* | \$408.18   |
| 21. | National Office<br>Furniture | ACQUAINT,BARIATRIC,S<br>LAT BACK,ARMS                          | 2      | \$596.27*              | \$1,192.54 | No Bid    |          | \$710.84* | \$1,421.68 |
| 22. | National Office<br>Furniture | ACQUAINT,GUEST,HALF<br>UPH                                     | 3      | \$451.87*              | \$1,355.61 | No Bid    |          | \$651.13* | \$1,953.39 |
| 23. | INSPIRE-M                    | ARCHITEX,  | 6 yds  | \$70.50                | \$423.00   | No Bid    |          | Included  |            |
| 24. | National Office<br>Furniture | ACQUAINT,GUEST,<br>FULLY UPH                                   | 6      | \$431.92*              | \$2,591.52 | No Bid    |          | \$651.13* | \$3,906.78 |
| 25. | INSPIRE-M                    | ARCHITEX   | 24 yds | \$70.50                | \$1,692.00 | No Bid    |          | Included  |            |
| 26. | National Office<br>Furniture | SWIFT,ONE SEAT<br>LOUNGE                                       | 3      | \$738.35*              | \$2,215.05 | No Bid    |          | No Bid    |            |
| 27. | 9141977                      | MOMENTUM TEXTILES  | 24 yds | \$89.10                | \$2,138.40 | No Bid    |          | No Bid    |            |
| 28. | National Office<br>Furniture | RENO,24DX24W,END<br>TABLE,SQUARE,<br>LAMINATE                  | 4      | \$722.07*              | \$2,888.28 | No Bid    |          | \$274.44* | \$1,097.76 |
| 29. | National Office<br>Furniture | CONFERENCE,32WX28H,<br>FOUR STAR                               | 1      | \$360.00*              | \$360.00   | No Bid    |          | No Bid    |            |
| 30. | National Office<br>Furniture | WAVEWORKS,42DIA,SU<br>RFACE,ROUND,HPL<br>SOFTENED PVC,SABLE    | 1      | Included               |            | No Bid    |          | No Bid    |            |
| 31. | National Office<br>Furniture | CONFERENCE,32WX28H,<br>FOUR STAR                               | 1      | \$360.00*              | \$360.00   | No Bid    |          | No Bid    |            |
| 32. | National Office Furniture    | WAVEWORKS,42DIA,<br>SURFACE,ROUND,HPL                          | 1      | Included               |            | No Bid    |          | No Bid    |            |

| 33. | National Office<br>Furniture | FOOTINGS,40WX28H,X<br>BASE,STATIC                                     | 3      | \$397.60*              | \$1,192.80 | No Bid | \$185.69* | \$557.07 |
|-----|------------------------------|---|--------|------------------------|------------|--------|-----------|----------|
| 34. | National Office Furniture    | FOOTINGS,48DIA,<br>ROUND TOP,HPL                                      | 3      | Included               |            | No Bid | \$196.73* | \$590.19 |
| 35. | Herman Miller                | +Connect Single Circuit<br>Electrical Power Entry, 6'<br>cord         | 2      | \$238.40*              | \$476.80   | No Bid | No Bid    |          |
| 36. | Herman Miller                | +Connect Ganging Bracket<br>Kit                                       | 14     | \$41.67*               | \$583.38   | No Bid | No Bid    |          |
| 37. | National Office<br>Furniture | BASE<br>SUPPORT,21WX28H,T-<br>LEG BASE,STATIC,<br>PLATINUM,PKG        | 10     | \$530.30*              | \$5,303.00 | No Bid | No Bid    |          |
| 38. | Herman Miller                | +Connect S740 Single<br>Circuit Power Unit, 2<br>Simplex Rcpt, 1 Data | 10     | \$280.75*              | \$2,807.50 | No Bid | No Bid    |          |
| 39. | Herman Miller                | +Connect Single Circuit<br>Electrical By-Pass Jumper,<br>12" long     | 4      | \$49.85*               | \$199.40   | No Bid | No Bid    |          |
| 40. | National Office<br>Furniture | ACCESSORIES,48WX12H,<br>MODESTY PANEL,RESIN                           | 10     | \$305.92*              | \$3,059.20 | No Bid | No Bid    |          |
| 41. | National Office<br>Furniture | WAVEWORKS,30DX30W,<br>SURFACE,QUARTER<br>ROUND,HPL                    | 4      | \$197.21*              | \$788.84   | No Bid | No Bid    |          |
| 42. | National Office<br>Furniture | WAVEWORKS,30DX60W,<br>SURFACE,<br>RECTANGULAR<br>DESK,HPL             | 10     | Included<br>w/item 37* |            | No Bid | No Bid    |          |
| 43. | National Office<br>Furniture | FRINGE,CLUB<br>CHAIR,ARMS,STATIC                                      | 2      | \$1,029.24*            | \$2,058.48 | No Bid | No Bid    |          |
| 44. | 6416-13                      | CARNEGIE FABRICS  | 16 yds | \$97.44                | \$1,559.04 | No Bid | No Bid    |          |
| 45. | National Office<br>Furniture | RENO,24DX24W,END<br>TABLE,SQUARE,<br>LAMINATE                         | 3      | \$722.07*              | \$2,166.21 | No Bid | \$274.44* | \$823.32 |
| 46. | National Office<br>Furniture | FRINGE,HIGH BACK,TWO SEAT,ARMLESS, CONTRASTING                        | 4      | \$1,734.57*            | \$6,983.28 | No Bid | No Bid    |          |
| 47. | 9141988                      | MOMENTUM TEXTILES   | 20 yds | \$89.10                | \$1,782.00 | No Bid | No Bid    |          |

|       |                              |   |          | dba Contrac | place Solutions et Furnishings C (Option 1) | dba Contrac | clace Solutions<br>et Furnishings<br>C (Option 2) |
|-------|------------------------------|---|----------|-------------|---|-------------|---|
| Item# | Manufacturer Part<br>Number  | Description   | Quantity | Unit Cost   | Extended Cost                               | Unit Cost   | Extended Cost                                     |
| 1.    | SitOnIt 5642                 | SitOnIt Focus Side Chair  | 85       | \$136.17*   | \$11,574.51                                 | \$136.17*   | \$11,574.51                                       |
| 2.    | SitOnIt 1011 FT1             | SitOnIt Lumin Four Leg  | 100      | \$84.01*    | \$8,401.18                                  | \$105.00*   | \$10,500.00                                       |
| 3.    | SitOnIt Torsa 6023           | SitOnIt Torsa (Fog Striped)   | 10       | \$264.81*   | \$2,648.10                                  | \$230.58*   | \$2,305.80  |
| 4.    | SitOnIt Torsa 6023           | SitOnIt Torsa (Onyx<br>Striped)                                     | 24       | \$264.81*   | \$6,355.43                                  | \$230.58*   | \$5,533.92  |
| 5.    | CLARUS                       | 4'x8' Colors By Clarus Float<br>Glassboard                          | 8        | \$394.60*   | \$3,156.80                                  | \$394.60*   | \$3,156.80  |
| 6.    | CLARUS                       | BOX TRAY (Magnetic)   | 6        | No Bid      |   | No Bid      |   |
| 7.    | Peter Pepper                 | PETER PEPPER 72w X 72h<br>X 18D GLIDING DOOR<br>GLASS CASE; NATURAL | 1        | No Bid      |   | No Bid      |   |
| 8.    | Peter Pepper                 | PETER PEPPER 72w X 48h<br>X 18D GLIDING DOOR<br>GLASS CASE; NATURAL | 1        | No Bid      |   | No Bid      |   |
| 9.    |                              | LINEAR LIGHTING LOW<br>VOLTAGE HALOGEN<br>FOR 72W CASE              | 1        | No Bid      |   | No Bid      |   |
| 10.   |                              | 4"H PLINTH FOR<br>LIGHTING  | 1        | No Bid      |   | No Bid      |   |
| 11.   | National Office<br>Furniture | RENO,24DX24W,END<br>TABLE,SQUARE,<br>LAMINATE                       | 1        | \$238.13*   | \$238.13                                    | \$238.13*   | \$238.13  |
| 12.   | National Office<br>Furniture | SWIFT,ONE SEAT<br>LOUNGE  | 1        | \$680.82*   | \$680.82                                    | \$680.82*   | \$680.82  |
| 13.   | National Office<br>Furniture | FRINGE,BENCH, TWO<br>SEAT   | 2        | \$640.92*   | \$1,281.84                                  | \$640.92*   | \$1,281.84  |
| 14.   | National Office<br>Furniture | FOOTINGS,40WX28H,X<br>BASE,STATIC                                   | 22       | \$356.75*   | \$7,848.50                                  | \$177.07*   | \$3,895.58  |
| 15.   | National Office Furniture    | FOOTINGS,48DIA,<br>ROUND TOP,HPL                                    | 22       | \$226.95*   | \$4,992.93                                  | \$187.87*   | \$4,133.05  |
| 16.   | Herman Miller                | +Connect Single Circuit<br>Electrical By-Pass Jumper,<br>12"        | 1        | No Bid      |   | No Bid      |   |
| 17.   | Herman Miller                | +Connect Single Circuit<br>Electrical Power Entry, 10'<br>cord      | 1        | No Bid      |   | No Bid      |   |
| 18.   | Herman Miller                | +Connect S740 Single<br>Circuit Power Unit, 2<br>simplex            | 2        | No Bid      |   | No Bid      |   |

No Bids

| 19. | National Office<br>Furniture | FOOTINGS,28DX100WX2<br>8H,Y BASE KIT<br>PLATINUM METALLIC             | 1      | \$388.21*             | \$388.21   | \$341.65*             | \$341.65   |                         |                    |
|-----|------------------------------|---|--------|-----------------------|------------|-----------------------|------------|-------------------------|--------------------|
| 20. | National Office<br>Furniture | FOOTINGS,48DX120W,B<br>OAT TOP,HPL SOFTENED<br>PVC,SABLE              | 1      | \$733.41*             | \$733.41   | \$388.94*             | \$388.94   |                         |                    |
| 21. | National Office<br>Furniture | ACQUAINT,BARIATRIC,S<br>LAT BACK,ARMS                                 | 2      | \$763.39*             | \$1,526.78 | \$763.39*             | \$1,526.78 |                         |                    |
| 22. | National Office<br>Furniture | ACQUAINT,GUEST,HALF<br>UPH  | 3      | \$509.50*             | \$1,528.49 | \$509.50*             | \$1,528.49 |                         |                    |
| 23. | INSPIRE-M                    | ARCHITEX,   | 6 yds  | No Bid                |            | No Bid                |            |                         |                    |
| 24. | National Office<br>Furniture | ACQUAINT,GUEST,<br>FULLY UPH  | 6      | \$509.50*             | \$3,056.98 | \$509.50*             | \$3,056.98 |                         |                    |
| 25. | INSPIRE-M                    | ARCHITEX  | 24 yds | No Bid                |            | No Bid                |            |                         |                    |
| 26. | National Office<br>Furniture | SWIFT,ONE SEAT<br>LOUNGE  | 3      | No Bid                |            | No Bid                |            |                         |                    |
| 27. | 9141977                      | MOMENTUM TEXTILES   | 24 yds | No Bid                |            | No Bid                |            |                         |                    |
| 28. | National Office<br>Furniture | RENO,24DX24W,END<br>TABLE,SQUARE,<br>LAMINATE                         | 4      | No Bid                |            | No Bid                |            |                         |                    |
| 29. | National Office<br>Furniture | CONFERENCE,32WX28H,<br>FOUR STAR                                      | 1      | Included<br>w/item 30 |            | Included<br>w/item 30 |            |                         |                    |
| 30. | National Office<br>Furniture | WAVEWORKS,42DIA,SU<br>RFACE,ROUND,HPL<br>SOFTENED PVC,SABLE           | 1      | \$293.84*             | \$293.84   | \$293.84*             | \$293.84   |                         |                    |
| 31. | National Office<br>Furniture | CONFERENCE,32WX28H,<br>FOUR STAR                                      | 1      | Included<br>w/item 32 |            | Included<br>w/item 32 |            |                         |                    |
| 32. | National Office<br>Furniture | WAVEWORKS,42DIA,<br>SURFACE,ROUND,HPL                                 | 1      | \$293.84*             | \$293.84   | \$293.84*             | \$293.84   |                         |                    |
| 33. | National Office<br>Furniture | FOOTINGS,40WX28H,X<br>BASE,STATIC                                     | 3      | \$356.75*             | \$1,070.25 | \$356.75*             | \$1,070.25 |                         |                    |
| 34. | National Office<br>Furniture | FOOTINGS,48DIA,<br>ROUND TOP,HPL                                      | 3      | \$226.95*             | \$680.85   | \$226.95*             | \$680.85   |                         |                    |
| 35. | Herman Miller                | +Connect Single Circuit Electrical Power Entry, 6' cord               | 2      | No Bid                |            | No Bid                |            | Trendway                | Corporation        |
| 36. | Herman Miller                | +Connect Ganging Bracket<br>Kit                                       | 14     | No Bid                |            | No Bid                |            | Wenger C                | orporation         |
| 37. | National Office<br>Furniture | BASE SUPPORT,21WX28H,T- LEG BASE,STATIC, PLATINUM,PKG                 | 10     | \$167.23*             | \$1,672.30 | \$167.23*             | \$1,672.30 | Brodart Co.             | Concept<br>Seating |
| 38. | Herman Miller                | +Connect S740 Single<br>Circuit Power Unit, 2<br>Simplex Rcpt, 1 Data | 10     | No Bid                |            | No Bid                |            | Macbiz<br>Solutions     | Mitylite           |
| 39. | Herman Miller                | +Connect Single Circuit Electrical By-Pass Jumper, 12" long           | 4      | No Bid                |            | No Bid                |            | Design<br>Central, Inc. | Evans<br>Consoles  |

| 40. | National Office<br>Furniture | ACCESSORIES,48WX12H,<br>MODESTY PANEL,RESIN               | 10     | \$111.88* | \$1,118.83 | \$111.88* | \$1,118.83 | Modern<br>Office<br>Furniture      | Moduform                          |
|-----|------------------------------|---|--------|-----------|------------|-----------|------------|------------------------------------|-----------------------------------|
| 41. | National Office<br>Furniture | WAVEWORKS,30DX30W,<br>SURFACE,QUARTER<br>ROUND,HPL        | 4      | \$137.96* | \$551.85   | \$137.96* | \$551.85   | Global<br>Industrial               | Integrated<br>Facilities<br>Group |
| 42. | National Office<br>Furniture | WAVEWORKS,30DX60W,<br>SURFACE,<br>RECTANGULAR<br>DESK,HPL | 10     | \$252.63* | \$2,526.33 | \$252.63* | \$2,526.33 | Norix<br>Furniture                 | Officefurnitur<br>e.com           |
| 43. | National Office<br>Furniture | FRINGE,CLUB<br>CHAIR,ARMS,STATIC                          | 2      | No Bid    |            | No Bid    |            | Kansas<br>Contract<br>Design       | KI                                |
| 44. | 6416-13                      | CARNEGIE FABRICS  | 16 yds | No Bid    |            | No Bid    |            | Southern<br>Office<br>Supply, Inc. | Spaces, Inc.                      |
| 45. | National Office<br>Furniture | RENO,24DX24W,END<br>TABLE,SQUARE,<br>LAMINATE             | 3      | No Bid    |            | No Bid    |            | K-Log                              | LK Goodwin<br>Company             |
| 46. | National Office<br>Furniture | FRINGE,HIGH BACK,TWO SEAT,ARMLESS, CONTRASTING            | 4      | No Bid    |            | No Bid    |            | SW Med-<br>Source                  | Total<br>Installation             |
| 47. | 9141988                      | MOMENTUM TEXTILES   | 20 yds | No Bid    |            | No Bid    |            | Total In                           | stallation                        |

On the recommendation of Kimberly Bush, on behalf of Facilities Project Services, Jennifer Dombaugh moved to accept the bids as indicated in bold above for a total cost of \$88,959.90. Talaya Schwartz seconded the motion. The motion passed unanimously

These are various furniture items to complete the furnishings for the new Law Enforcement Training Center currently under construction on the Innovation Campus. These items include furniture for private offices, fitting rooms, break rooms, lobby area, photo studio, exam room, classrooms and conference rooms. This purchase is within the budget for LETC FF&E. The City of Wichita will be reimbursing the county for half the cost of this purchase.

Note-Please see the Analysis tab for a more detailed breakdown of grouped items that are being awarded as overall low bids.

\*Indicates approved alternate was bid.

#### Questions and Answers

Tom Stolz: Questions?

Talaya Schwartz: Is this all inclusive of the remaining furniture that will be needed for this project or will there be more coming?

Tania Cole: Good morning Bid Board. Tania Cole, Director of Facility Maintenance and Project Services. There may be a few more items such as lateral files but other than coming before Bid Board, this would be it for the furniture.

Tom Stolz: In fact, this will be the last Bid Board item for LETC totally won't it?

Tania Cole: That's correct.

|             | <b>Selected Low Bids</b> |      |
|-------------|--------------------------|------|
| 1           | \$11,574.51              |      |
| 2           | \$8,401.18               |      |
| 2<br>3<br>4 | \$2,305.80               |      |
| 4           | \$5,533.92               |      |
| 5           | \$3,156.80               |      |
| 6           | \$0.00                   |      |
| 7           | \$5,899.00               |      |
| 8           | \$4,766.50               |      |
| 9           | \$876.71                 |      |
| 10          | \$103.00                 |      |
| 11          | \$238.13                 |      |
| 12          | \$485.48                 |      |
| 13          | \$1,090.14               |      |
| 14          | \$3,972.54               |      |
| 15          | \$3,853.08               |      |
| 16          | \$39.32                  |      |
| 17          | \$200.49                 |      |
| 18          | \$418.28                 |      |
| 19          | \$378.95                 |      |
| 20          | \$888.16                 |      |
| 21          | \$1,192.54               |      |
| 22          | \$1,341.12               |      |
| 23          | \$436.56                 |      |
| 24          | \$3,906.78               |      |
| 25          | \$0.00                   | incl |
| 26          | \$2,215.05               |      |
| 27          | \$2,138.40               |      |
| 28          | \$1,097.76               |      |
| 29          | \$0.00                   | incl |
| 30          | \$293.84                 |      |
| 31          | \$0.00                   | incl |
| 32          | \$293.84                 |      |
| 33          | \$557.07                 |      |
| 34          | \$590.19                 |      |
| 35          | \$168.64                 |      |
| 36          | \$567.84                 |      |
| 37          | \$1,451.50               |      |
| 38          | \$1,709.50               |      |
| 39          | \$147.44                 |      |
| 40          | \$1,294.70               |      |
| 41          | \$638.64                 |      |
| 42          | \$3,223.10               |      |
| 43          | \$692.56                 |      |
| 44          | \$1,813.28               |      |
| 45          | \$823.32                 |      |
| 46          | \$6,325.44               |      |
| 47          | \$1,858.80               |      |
|             | \$88,959.90              |      |
| ,           |                          |      |

|    |        |  |   | Scott      | Scott Rice  |            | John A. Marshall Co. |            | Furniture by William |            | mpas        | Pure Workplace |            | Pure W    | orkplace   |
|----|--------|--|---|------------|-------------|------------|----------------------|------------|----------------------|------------|-------------|----------------|------------|-----------|------------|
| 5. | CLARUS | 4'x8' Colors By Clarus Float<br>Glassboard | 8 | \$2,111.75 | \$16,894.00 | \$1,629.88 | \$13,039.04          | \$2,288.00 | \$18,304.00          | \$1,719.28 | \$13,754.24 | \$394.60*      | \$3,156.80 | \$394.60* | \$3,156.80 |
| 6. | CLARUS | BOX TRAY (Magnetic)                        | 6 | \$43.47    | \$260.82    | \$46.65    | \$279.90             | \$93.50    | \$748.00             | \$60.30    | \$361.80    | No Bid         |            | No Bid    |            |
|    |        |  |   |            | \$17,154.82 |            | \$13,318.94          | -          | \$19,052.00          |            | \$14,116.04 |                |            |           | \$3,156.80 |

|     |            |  |   | Scott      | t Rice      | John A. M  | arshall Co. |            | by William<br>ebb | Enco       | mpas        |
|-----|------------|--|---|------------|-------------|------------|-------------|------------|-------------------|------------|-------------|
| 7.  | Peter Pepp | PETER PEPPER 72w X 72h X 18D GLIDING DOOR GLASS CASE;  | 1 | \$5,899.00 | \$5,899.00  | \$6,627.14 | \$6,627.14  | \$6,911.50 | \$6,911.50        | \$6,532.52 | \$6,532.52  |
| 8.  | Peter Pepp | PETER PEPPER 72w X 48h X 18D GLIDING DOOR GLASS CASE;  | 1 | \$4,766.50 | \$4,766.50  | \$4,405.86 | \$4,405.86  | \$5,705.80 | \$5,705.80        | \$5,269.43 | \$5,269.43  |
| 9.  |            | LINEAR LIGHTING LOW<br>VOLTAGE HALOGEN<br>FOR 72W CASE | 1 | \$876.71   | \$876.71    | \$1,182.86 | \$1,182.86  | \$1,057.00 | \$1,057.00        | \$887.40   | \$887.40    |
| 10. |            | 4"H PLINTH FOR<br>LIGHTING                             | 1 | \$103.00   | \$103.00    | \$138.57   | \$138.57    | \$124.00   | \$124.00          | \$887.40   | \$887.40    |
|     |            |  |   |            | \$11,645.21 |            | \$12,354.43 |            | \$13,798.30       |            | \$13,576.75 |

|     |                                 |                                   |    | •        | Business<br>intage | John A. M | Iarshall Co. |          | by William<br>ebb | Enco      | ompas      |           | Business<br>nent, Inc. | Office Plus | s of Kansas | Pure Wo   | orkplace<br>(Option 1) |           | orkplace<br>(Option 2) |
|-----|---------------------------------|-----------------------------------|----|----------|--------------------|-----------|--------------|----------|-------------------|-----------|------------|-----------|------------------------|-------------|-------------|-----------|------------------------|-----------|------------------------|
| 14. | National<br>Office<br>Furniture | FOOTINGS,40WX28H,X<br>BASE,STATIC | 22 | \$306.68 | \$6,746.96         | \$285.05  | \$6,271.10   | \$348.50 | \$7,667.00        | \$388.68* | \$8,550.96 | \$180.57* | \$3,972.54             | \$185.69*   | \$4,085.18  | \$356.75* | \$7,848.50             | \$177.07* | \$3,895.58             |
| 15. | National<br>Office<br>Furniture | FOOTINGS,48DIA,<br>ROUND TOP,HPL  | 22 | \$399.08 | \$8,779.76         | \$370.95  | \$8,160.90   | \$453.50 | \$9,977.00        | Included* |            | \$175.14* | \$3,853.08             | \$196.73    | \$4,328.06  | \$226.95* | \$4,992.93             | \$187.87* | \$4,133.05             |
|     |                                 |                                   |    |          | \$15,526.72        |           | \$14,432.00  |          | \$17,644.00       |           | \$8,550.96 |           | \$7,825.62             |             | \$8,413.24  |           | \$12,841.43            |           | \$8,028.63             |

|     |                                 |   |   | Staples 1<br>Adva | Business<br>ntage | John A. M | arshall Co. |          | by William<br>ebb | Enco                | mpas       |           | Business ent, Inc. | Office Plus of Kansas | Pure Wo   | orkplace<br>(Option 1) | Pure Wo   | orkplace<br>(Option 2) |
|-----|---------------------------------|---|---|-------------------|-------------------|-----------|-------------|----------|-------------------|---------------------|------------|-----------|--------------------|-----------------------|-----------|------------------------|-----------|------------------------|
| 16. | Herman<br>Miller                | +Connect Single Circuit Electrical By-Pass Jumper, 12"    | 1 | No Bid            |                   | \$39.32   | \$39.32     | \$38.04  | \$38.04           | Included w/item 20* |            | No Bid    |                    | No Bid                | No Bid    |                        | No Bid    |                        |
| 17. | Herman<br>Miller                | +Connect Single Circuit Electrical Power Entry, 10' cord  | 1 | No Bid            |                   | \$200.49  | \$200.49    | \$193.95 | \$193.95          | Included w/item 20* |            | No Bid    |                    | No Bid                | No Bid    |                        | No Bid    |                        |
| 18. | Herman<br>Miller                | +Connect S740 Single<br>Circuit Power Unit, 2<br>simplex  | 2 | No Bid            |                   | \$209.14  | \$418.28    | \$202.31 | \$404.62          | Included w/item 20* |            | No Bid    |                    | No Bid                | No Bid    |                        | No Bid    |                        |
| 19. | National<br>Office<br>Furniture | FOOTINGS,28DX100WX2<br>8H,Y BASE KIT<br>PLATINUM METALLIC | 1 | \$362.56          | \$362.56          | \$378.95  | \$378.95    | \$412.00 | \$412.00          | Included w/item 20* |            | \$343.59* | \$343.59           | \$336.20* \$336.20    | \$388.21* | \$388.21               | \$341.65* | \$341.65               |
| 20. | National<br>Office<br>Furniture | FOOTINGS,48DX120W,B<br>OAT TOP,HPL<br>SOFTENED PVC,SABLE  | 1 | \$868.95          | \$868.95          | \$888.16  | \$888.16    | \$912.50 | \$912.50          | \$2,090.05*         | \$2,090.05 | \$402.53* | \$402.53           | \$408.18* \$408.18    | \$733.41* | \$733.41               | \$388.94* | \$388.94               |
|     |                                 |   |   |                   |                   |           | \$1,925.20  |          | \$1,961.11        | ·                   | \$2,090.05 |           |                    |                       |           |                        |           |                        |

|     |    |                                 |                            |       | •        | Business<br>.ntage | John A. M | arshall Co. |          | by William<br>ebb | Enco      | ompas      | Office Plus | s of Kansas | Pure Wo   | orkplace<br>(Option 1) | Pure Wo   | orkplace<br>(Option 2) |
|-----|----|---------------------------------|----------------------------|-------|----------|--------------------|-----------|-------------|----------|-------------------|-----------|------------|-------------|-------------|-----------|------------------------|-----------|------------------------|
| 22. |    | National<br>Office<br>Furniture | ACQUAINT,GUEST,HALF<br>UPH | 3     | \$447.04 | \$1,341.12         | \$484.70  | \$1,454.10  | \$508.00 | \$1,524.00        | \$451.87* | \$1,355.61 | \$651.13*   | \$1,953.39  | \$509.50* | \$1,528.49             | \$509.50* | \$1,528.49             |
| 23. | 3. | INSPIRE-M                       | ARCHITEX,                  | 6 yds | \$72.76  | \$436.56           | \$81.33   | \$487.98    | \$61.87  | \$371.22          | \$70.50   | \$423.00   | Included    |             | No Bid    |                        | No Bid    |                        |
|     |    |                                 |                            |       |          | \$1,777.68         |           | \$1,942.08  |          | \$1,895.22        |           | \$1,778.61 |             | \$1,953.39  |           |                        |           |                        |

|     |                                 |                              |        | *       | Business<br>ntage | John A. M | Iarshall Co. |           | by William<br>ebb | Enco      | mpas       | Office Plus | s of Kansas | Pure W<br>Solutions | orkplace<br>(Option 1) |        | Option 2) |
|-----|---------------------------------|------------------------------|--------|---------|-------------------|-----------|--------------|-----------|-------------------|-----------|------------|-------------|-------------|---------------------|------------------------|--------|-----------|
| 24. | National<br>Office<br>Furniture | ACQUAINT,GUEST,<br>FULLY UPH | 6      |         |                   | \$525.50  | \$3,153.00   | \$431.92* | \$2,591.52        | \$651.13* | \$3,906.78 | \$509.50*   | \$3,056.98  | \$509.50*           | \$3,056.98             |        |           |
| 25. | INSPIRE-M                       | ARCHITEX                     | 24 yds | \$72.76 | \$1,746.24        | \$81.33   | \$1,951.92   | \$61.87   | \$1,484.88        | \$70.50   | \$1,692.00 | Included    |             | No Bid              |                        | No Bid |           |
|     |                                 |                              |        |         | \$4,520.88        |           | \$4,017.96   |           | \$4,637.88        |           | \$4,283.52 |             | \$3,906.78  |                     |                        |        |           |

|     |                                 |                          |        | 1          | Business<br>ntage | John A. M | arshall Co. |            | by William<br>ebb | Enco      | ompas      |
|-----|---------------------------------|--------------------------|--------|------------|-------------------|-----------|-------------|------------|-------------------|-----------|------------|
| 26. | National<br>Office<br>Furniture | SWIFT,ONE SEAT<br>LOUNGE | 3      | \$1,023.44 | \$3,070.32        | \$639.41  | \$1,918.23  | \$1,163.00 | \$3,489.00        | \$738.35* | \$2,215.05 |
| 27. | 9141977                         | MOMENTUM TEXTILES        | 24 yds | \$94.94    | \$2,278.56        | \$105.33  | \$2,527.92  | \$80.13    | \$2,035.16        | \$89.10   | \$2,138.40 |
|     |                                 |                          |        |            | \$5,348.88        |           | \$4,446.15  |            | \$5,524.16        |           | \$4,353.45 |

|     |                                 |   |   |          | Business<br>intage | John A. M | arshall Co. |          | by William<br>ebb | Enco      | mpas     | Pure Wood          | orkplace<br>(Option 1) | Pure Wo            | orkplace<br>(Option 2) |
|-----|---------------------------------|---|---|----------|--------------------|-----------|-------------|----------|-------------------|-----------|----------|--------------------|------------------------|--------------------|------------------------|
| 29. | National<br>Office<br>Furniture | CONFERENCE,32WX28H,<br>FOUR STAR                            | 1 | \$229.24 | \$229.24           | \$254.77  | \$254.77    | \$260.50 | \$260.50          | \$360.00* | \$360.00 | Included w/item 30 |                        | Included w/item 30 |                        |
| 30. | National<br>Office<br>Furniture | WAVEWORKS,42DIA,SU<br>RFACE,ROUND,HPL<br>SOFTENED PVC,SABLE | 1 | \$165.44 | \$165.44           | \$183.78  | \$183.78    | \$248.00 | \$248.00          | Included  |          | \$293.84*          | \$293.84               | \$293.84*          | \$293.84               |
|     |                                 |   |   |          | \$394.68           |           | \$438.55    |          | \$508.50          |           | \$360.00 |                    | \$293.84               |                    | \$293.84               |

|     |                                 |                                       |   | _        | Business<br>ntage | John A. M | arshall Co. |          | by William<br>ebb | Enco      | mpas     | Pure Wo            | orkplace<br>(Option 1) |                    | orkplace<br>(Option 2) |
|-----|---------------------------------|---------------------------------------|---|----------|-------------------|-----------|-------------|----------|-------------------|-----------|----------|--------------------|------------------------|--------------------|------------------------|
| 31. | National<br>Office<br>Furniture | CONFERENCE,32WX28H,<br>FOUR STAR      | 1 | \$229.24 | \$229.24          | \$254.77  | \$254.77    | \$260.50 | \$260.50          | \$360.00* | \$360.00 | Included w/item 32 |                        | Included w/item 32 |                        |
| 32. | National<br>Office<br>Furniture | WAVEWORKS,42DIA,<br>SURFACE,ROUND,HPL | 1 | \$165.44 | \$165.44          | \$183.78  | \$183.78    | \$248.00 | \$248.00          | Included  |          | \$293.84*          | \$293.84               | \$293.84*          | \$293.84               |
|     |                                 |                                       |   |          | \$394.68          |           | \$438.55    |          | \$508.50          |           | \$360.00 |                    | \$293.84               |                    | \$293.84               |

|     |                                 |                                   |   | *        | Business<br>ntage | John A. M | arshall Co. |          | oy William<br>ebb | Enco      | mpas       | Office Plus | s of Kansas | Pure Wood | orkplace<br>(Option 1) |           | Orkplace (Option 2) |
|-----|---------------------------------|-----------------------------------|---|----------|-------------------|-----------|-------------|----------|-------------------|-----------|------------|-------------|-------------|-----------|------------------------|-----------|---------------------|
| 33. | National<br>Office<br>Furniture | FOOTINGS,40WX28H,X<br>BASE,STATIC | 3 | \$306.68 | \$920.04          | \$290.14  | \$870.42    | \$348.50 | \$1,045.50        | \$397.60* | \$1,192.80 | \$185.69*   | \$557.07    | \$356.75* | \$1,070.25             | \$356.75* | \$1,070.25          |
| 34. | National<br>Office<br>Furniture | FOOTINGS,48DIA,<br>ROUND TOP,HPL  | 3 | \$399.08 | \$1,197.24        | \$377.57  | \$1,132.71  | \$344.50 | \$1,033.50        | Included  |            | \$196.73*   | \$590.19    | \$226.95* | \$680.85               | \$226.95* | \$680.85            |
|     |                                 |                                   |   |          | \$2,117.28        |           | \$2,003.13  |          | \$2,079.00        |           | \$1,192.80 |             | \$1,147.26  |           | \$1,751.10             |           | \$1,751.10          |

|     |                                 |   |    | ^        | Business<br>ntage | John A. M | arshall Co. |          | by William<br>ebb | Enco                | mpas        |           | orkplace<br>(Option 1) |           | orkplace<br>(Option 2) |
|-----|---------------------------------|---|----|----------|-------------------|-----------|-------------|----------|-------------------|---------------------|-------------|-----------|------------------------|-----------|------------------------|
| 35. | Herman<br>Miller                | +Connect Single Circuit Electrical Power Entry, 6' cord               | 2  | No Bid   |                   | \$84.32   | \$168.64    | \$185.17 | \$370.34          | \$238.40*           | \$476.80    | No Bid    |                        | No Bid    |                        |
| 36. | Herman<br>Miller                | +Connect Ganging Bracket<br>Kit                                       | 14 | No Bid   |                   | \$20.28   | \$567.84    | \$31.35  | \$438.90          | \$41.67*            | \$583.38    | No Bid    |                        | No Bid    |                        |
| 37. | National<br>Office<br>Furniture | BASE SUPPORT,21WX28H,T- LEG BASE,STATIC, PLATINUM,PKG                 | 10 | \$310.20 | \$3,102.00        | \$145.15  | \$1,451.50  | \$352.50 | \$3,525.00        | \$530.30*           | \$5,303.00  | \$167.23* | \$1,672.30             | \$167.23* | \$1,672.30             |
| 38. | Herman<br>Miller                | +Connect S740 Single<br>Circuit Power Unit, 2<br>Simplex Rcpt, 1 Data | 10 | No Bid   |                   | \$170.95  | \$1,709.50  | \$247.46 | \$2,474.60        | \$280.75*           | \$2,807.50  | No Bid    |                        | No Bid    |                        |
| 39. | Herman<br>Miller                | +Connect Single Circuit<br>Electrical By-Pass Jumper,<br>12" long     | 4  | No Bid   |                   | \$36.86   | \$147.44    | \$38.04  | \$152.16          | \$49.85*            | \$199.40    | No Bid    |                        | No Bid    |                        |
| 40. | National<br>Office<br>Furniture | ACCESSORIES,48WX12H<br>,MODESTY<br>PANEL,RESIN                        | 10 | \$205.92 | \$2,059.20        | \$129.47  | \$1,294.70  | \$234.00 | \$2,340.00        | \$305.92*           | \$3,059.20  | \$111.88* | \$1,118.83             | \$111.88* | \$1,118.83             |
| 41. | National<br>Office<br>Furniture | WAVEWORKS,30DX30W,<br>SURFACE,QUARTER<br>ROUND,HPL                    | 4  | \$170.72 | \$682.88          | \$159.66  | \$638.64    | \$194.00 | \$776.00          | \$197.21*           | \$788.84    | \$137.96* | \$551.85               | \$137.96* | \$551.85               |
| 42. | National<br>Office<br>Furniture | WAVEWORKS,30DX60W,<br>SURFACE,<br>RECTANGULAR<br>DESK,HPL             | 10 | \$178.20 | \$1,782.00        | \$322.31  | \$3,223.10  | \$262.50 | \$2,625.00        | Included w/item 37* |             | \$252.63* | \$2,526.33             | \$252.63* | \$2,526.33             |
|     |                                 |   |    |          | \$7,626.08        |           | \$9,201.36  |          | \$12,702.00       |                     | \$13,218.12 |           | \$5,869.31             |           | \$5,869.31             |

|     |                                 |                                  |        | Staples  | Business   | John A. M | arshall Co. | Furniture  | by William | Enco        | mpas       |
|-----|---------------------------------|----------------------------------|--------|----------|------------|-----------|-------------|------------|------------|-------------|------------|
| 43. | National<br>Office<br>Furniture | FRINGE,CLUB<br>CHAIR,ARMS,STATIC | 2      | \$934.12 | \$1,868.24 | \$346.28  | \$692.56    | \$1,061.00 | \$2,123.00 | \$1,029.24* | \$2,058.48 |
| 44. | 6416-13                         | CARNEGIE FABRICS                 | 16 yds | \$100.00 | \$1,600.00 | \$113.33  | \$1,813.28  | \$86.22    | \$1,429.50 | \$97.44     | \$1,559.04 |
|     |                                 |                                  |        |          | \$3,468.24 |           | \$2,505.84  |            | \$3,552.50 |             | \$3,617.52 |

|     |                                 |  |        | Staples 1  | Business   | John A. M  | arshall Co. | Furniture b | y William  | Enco        | mpas       |
|-----|---------------------------------|--|--------|------------|------------|------------|-------------|-------------|------------|-------------|------------|
| 46. | National<br>Office<br>Furniture | FRINGE,HIGH BACK,TWO SEAT,ARMLESS, CONTRASTING | 4      | \$1,581.36 | \$6,325.44 | \$1,594.44 | \$6,377.76  | \$1,797.00  | \$7,188.00 | \$1,734.57* | \$6,983.28 |
| 47. | 9141988                         | MOMENTUM TEXTILES                              | 20 yds | \$92.94    | \$1,858.80 | \$105.33   | \$2,106.60  | \$80.13     | \$1,639.08 | \$89.10     | \$1,782.00 |
|     |                                 |  |        |            | \$8,184.24 |            | \$8,484.36  |             | \$8,827.08 |             | \$8,765.28 |

## 3. ARCHITECTURAL AND ENGINEERING (A/E) SERVICES EMS POST 15 -- FACILITIES PROJECT SERVICES FUNDING -- CAPITAL IMPROVEMENT PROGRAM

(Request sent to 146 vendors)

#### RFP #17-0071 Contract

|                          | Clarkitecture                        | Hanney &<br>Associates<br>Architects         | Health Facilities,<br>Group, LLC dba<br>Kraybill<br>Associates |  |
|--------------------------|--------------------------------------|--|--|--|
| A/E Services EMS Post 15 | \$55,015.00                          | \$59,450.00                                  | \$69,500.00  |  |
|                          | Krehbiel<br>Architecture             | Spangenberg<br>Phillips Tice<br>Architecture | Team Architecture<br>LLC                                       |  |
| A/E Services EMS Post 15 | \$54,875.00                          | \$70,550.00                                  | \$61,245.00  |  |
|                          | WDM Architects                       |  |  |  |
| A/E Services EMS Post 15 | \$74,375.00                          |  |  |  |
| No Bids                  |                                      |  |  |  |
| Cathcart Architects      | William Morris Associates Architects |  | Williams<br>International<br>Group                             |  |
| Hastings & Chivetta      | Folger & Associates, Inc.            |  | GLMV<br>Architecture   |  |
| Landmark Architects      | Henderson Engineers                  |  | Hunt Companies   |  |
| SFS Architecture         | MJC Architecture                     |  | Randal Steiner<br>Architect P.A.                               |  |
| Treanor HL               | Shelden Architecture                 |  | SJCF Architecture  |  |
| Trendway Corporation     | Wildcat Construction Co., Inc.       |  |  |  |

On the recommendation of Kimberly Bush, on behalf of Facilities Project Services, Richard Powell moved to accept the low proposal from Krehbiel Architecture in the amount of \$54,875.00. Randy Bargdill seconded the motion. The motion passed unanimously.

A review committee comprised of Sandy Anguelov - Facilities Project Services, Paul Gibson and Scott Hadley - Emergency Medical Services and Kim Bush - Purchasing reviewed and scored the proposals based on the criteria set forth in the RFP. Clarkitecture, Krehbiel Architecture and Hanney and Associates Architects were shortlisted. Clarification questions were sent to shortlisted vendors and based on the responses, Hanney and Associates Architects and Krehbiel Architecture were selected to provide Best and Final Offers. Krehbiel Architecture received the highest score and is being recommended for award.

This project will include preparation of design drawings, specifications, bidding assistance, opinion of probable cost and construction administration for the construction of Sedgwick County EMS Post 15. The facility will be located on property already owned by the county near 35<sup>th</sup> Street North and Webb Road (the South 219.65' of Lot 35, Comotara Industrial Park Fourth Addition). The building will be an approximately 3,000 square foot pre-engineered metal building with brick façade. This building will include: a heated drive-thru bay for two ambulances with storage, dayroom/office quarters to accommodate a 4 person crew per shift with a kitchen, generator, separate shower/restroom facilities for men and women, and a locker area. The concrete floors will be sealed throughout and drywall will be installed.

The county has done projects with this vendor previously with satisfactory results.

#### Questions and Answers

Tom Stolz: Questions? I just have a process question for Kim or Joe. So we put this out and we get a number of people that expressed interest and then we then shortlist it and provide the shortlist with additional questions. How do we make that cut?

Kim Bush: So when the responses come in, we have scoring criteria, which we put out in the document that the responses will be scored based on these specific criteria. The top three scorers were shortlisted in this case and those were the people that we sent clarification questions to.

Tom Stolz: Is that Purchasing that sets the scoring list or is it EMS?

Kim Bush: We draft it in the document and we send it to the department to review and approve basically so if they wanted to add anything different or make changes to that, so it's a collaborative effort.

Tom Stolz: Is that fairly typical on architectural kinds of bids that we do that process?

Kim Bush: On any RFP, we do that process sir.

Tom Stolz: Any other questions while I'm thinking about that one. The criteria that we set for is there a way, is that in this packet? Can we see that?

Kim Bush: It's in the original RFP. I can send you a copy of that document if you want to review it.

Tom Stolz: I'd like to see it.

Kim Bush: I'll make sure that everybody receives that after the meeting.

#### 4. SESSION INITIATED PROTOCOL (SIP) TRUNK AND LONG DISTANCE SERVICE

## -- INFORMATION TECHNOLOGY AND SUPPORT SERVICES (ITSS) FUNDING -- ITSS

(Single Source)

#17-2040 Contract

|   | <b>Cox Communications</b> |  |  |
|---|---------------------------|--|--|
|   | Kansas, LLC               |  |  |
|   | Monthly                   |  |  |
| Service Address: 525 N Main St., Wichita, KS, 67203       |                           |  |  |
| 2-way Trunk Channel (call path)                           | \$920.00                  |  |  |
| 10Mb SIP Trunk Group Port                                 | \$300.00                  |  |  |
| DID 100 Number Block-Per Block                            | \$50.00                   |  |  |
| Cox Domestic Switched Inter/Intra                         | \$25.00                   |  |  |
| state Toll Free Calling                                   |                           |  |  |
| Monthly Subtotal  | \$1,295.00                |  |  |
| Service Address: 510 N Main St. #Fl 2, Wichita, KS, 67203 |                           |  |  |
| DID 20 Number Block - Per Block                           | \$2.50                    |  |  |
| 2-way Trunk Channel (call path)                           | \$690.00                  |  |  |
| 10Mb SIP Trunk Group Port                                 | \$300.00                  |  |  |
| DID 100 Number Block-Per Block                            | \$205.00                  |  |  |
| Cox Business Minute Pack 75,000                           | \$1,650.00                |  |  |
| Monthly Subtotal  | \$2,847.50                |  |  |
| Monthly Grand Total of Both Locations                     | \$4,142.50                |  |  |
| 60 Month Grand Total of Both Locations                    | \$248,550.00              |  |  |

On the recommendation of Paul Regehr, on behalf of ITSS, Richard Powell moved to accept the quote from Cox Communications Kansas, LLC at a monthly rate of \$4,142.50 and a total five (5) year cost of \$248,550.00. Jennifer Dombaugh seconded the motion. The motion passed unanimously.

Our current provider is Cox Communications Kansas, LLC. Our previous total spend for these two locations was \$232.515.00.

SIP (Session Initiated Protocol) is a VOIP (Voice Over Internet Protocol) phone service that is currently the standard technology.

#### Questions and Answers

Tom Stolz: Questions?

Richard Powell: Was the increase over last year's cost for service due to any additional locations that are providing service to or was that simply a contractual increase?

Wes Ellington: Good morning. Wes Ellington, Chief Information Officer, Sedgwick County. Could you repeat the question?

Richard Powell: Last year's cost total spend was \$232,000.00 and the projected cost for this quote is \$248,000.00 so there is an increase of about \$16,000.00?

Wes Ellington: Right. The increase is due to overages for long distance calls that the county is currently making. When we cut over to trunk technology about 5 years ago, we were almost hitting the ceiling of going over. It's kind of like your cell phone minutes. You're allotted so many minutes and currently we are at 40,000 minutes. We kept the contract the same but over the last five years, we've increased slowly every year to the point where we increased the packet minutes that they allow and that's what the increase is. This is just to get us over from 40,000 minutes to 75,000. We average around 60,000 so we got a little bit of a cushion there but the overall goal with the new contract is we will save about \$400.00 a month or \$24,000.00 over the five-year contract.

Tom Stolz: Thank you sir. While you're there Wes, every time I see something come through that has a single bid on it, they're the only ones that can compete on this type of purchase is that correct?

Wes Ellington: There are others but there's several factors. Previous providers, the support was not up to standard, it was poor support, as well as extremely cryptic billing methods that were used and consolidating Cox phones, since we were already using Cox Communications for all of our data lines Metro-east circuits for fire stations and EMS, just simplifies the overhead to manage the billing process.

Tom Stolz: Joe, is this a Sole Source?

Joe Thomas: It's a Single Source, showing again that there are options but there are factors that would make it best to stay with what we currently have.

Talaya Schwartz: Would I be correct in assuming the \$232,515.00 for Cox was for a 5-year period as well?

Wes Ellington: Correct.